Wit EREERE (77 2 A—RIL )

14418 =[ AU LER S 1=wh |
2 4% =| PUZ-ERMP160LA6 |

3.H2sET(TEBR)
(1) B8 (EnEs) w= ke
(@) 7 h—RIbk
DAL N= S
@Y A X TR =M F
@ 1 A= DD BUAERE (TR K DUTERE) A= mm*=[_78x10° |m
OWSREAEER ICBADSBROEZII DR AIDT7VH—RIL DAY Nt=[ 2 x
(B IEAEKLOERBDECOES Heg=[ 600 |mm= m
(4 REIT DHENSHIRILNRI L= mm= m
(5) 18515 BHENSH R IVNRDD SRR E Dk TR Le= mm(Le=L/2)= m
A ARSI B (SIED/ AU T2 EEMEAAL TEH)
(1) REAKTEE RtREEEE Ks=[ 1.0 | Kh=zKs=[ 1.0 |
M R% z=[ 10 ]
(2)BEtFRthERE Kv=Kh/2=
(3)SRET RIS Fh=Kh-w-9.8=[ 8722 N
(4)3%Et B ES Fv=Kv-w-9.8= MN
(5) P H—TRILNDB #H1 Ro=FHE—W9BRV L8 —[T5T25 |N
(6) 7 H—IRILDE A Q=Fh/N=[ 2181 |N
(7) P H—RILNCE T2 HE
D3 BRI o=Rb/a=] 78 MPactis A oNbs
MILN(SSA00) DFA E A fS
@QBAMILSE =Q/A= MPa<fs=101MPa
@5 IRE B AMERIICRZTDI5E fts'=1.4ft-1.61= MPa
1oLl fts SftDEEfts=fts' fts >FtDEEfts= THDDT fts= MPa
o= MPa < fts= MPa
(8) 7 hH—RILh DT %
OF >V H—RIVbDETE =] EmIEERTVH— |
@V U—hDEE =[ 120 |mm= m
@RILNDIBAR S = mm m
@FFEs ks m N>Rb= m N

P EDIREHERICKDT Y A—RILNE T D58 EZE T Do
RIS DHFBELAEBLU T H—RIVD3 BREFES S, [REREMERE 1155201 4FEIRIC&D.

950 330
380
2
16 o __ | _IG
(@)
(@)
«©
17 17 & N
370

PUZERMP160LAB-TSA





